**ORIGINAL PAPER** 

# SOME PROPERTIES OF TWO LINEARLY INDEPENDENT MEROMORPHIC SOLUTIONS OF SECOND ORDER LINEAR DIFFERENTIAL EQUATIONS\*

BENHARRAT BELAÏDI<sup>1</sup>

Manuscript received: 05.01.2014; Accepted paper: 10.03.2014;

Published online: 31.03.2014.

**Abstract.** This paper is devoted to studying the growth and oscillation of the polynomial of combinaison of two linearly independent meromorphic solutions to the complex differential equation

$$f'' + A(z) f' + B(z) f = 0,$$

where A(z) and B(z) are meromorphic functions of finite iterated p-order.

2010 Mathematics Subject Classification: 34M10, 30D35.

*Keywords:* Linear differential equations, Polynomial of solutions, Meromorphic solutions, Iterated order, Iterated exponent of convergence of thesequence of distinct zeros.

## 1. INTRODUCTION AND MAIN RESULTS

In this paper, we assume that readers are familiar with the fundamental results and standard notations of the Nevanlinna's theory of meromorphic functions [8, 12]. In order to describe the growth of order of meromorphic functions more precisely, we introduce some notations about finite iterated order. For the definition of the iterated order of a meromorphic function, we use the same definition as in [3, 9, 10]. For all  $r \in \mathbb{R}$ , we define  $\exp_1 r := e^r$  and  $\exp_{p+1} r := \exp(\exp_p r)$ ,  $p \in \mathbb{N}$ . We also define for all r sufficiently large  $\log_1 r := \log r$  and  $\log_{p+1} r := \log(\log_p r)$ ,  $p \in \mathbb{N}$ . Moreover, we denote by  $\exp_0 r := r$ ,  $\log_0 r := r$ ,  $\log_{-1} r := \exp_1 r$  and  $\exp_{-1} r := \log_1 r$ .

**Definition 1.1** [9, 10]: Let f be a meromorphic function. Then the iterated p-order  $\rho_p(f)$  of f is defined as

$$\rho_p(f) = \limsup_{r \to \infty} \frac{\log_p T(r, f)}{\log r} \quad (p \ge 1 \text{ is an integer}),$$

where T(r, f) is the Nevanlinna characteristic function of f[8, 12].

For p = 1, this notation is called order and for p = 2 hyper-order.

<sup>\*</sup> Communicated in the Conference "Complex Analysis, Potential Theory and Applications", August  $19^{th} - 23^{rd}$ , 2013, Kiev, Ukraine.

<sup>&</sup>lt;sup>1</sup> University of Mostaganem (UMAB), Laboratory of Pure and Applied Mathematics, Department of Mathematics, 227 Mostaganem, Algeria. E-mail: <u>belaidi@univ-mosta.dz</u>.

**Definition 1.2** [9]: The finiteness degree of the order of a meromorphic function f is defined as

$$i(f) = \begin{cases} 0 & \text{, for } f \text{ rational,} \\ \min\left\{j \in \mathbb{N} : \rho_j(f) < \infty\right\}, \text{ for } f \text{ transcedental for which some } j \in \mathbb{N} \text{ with } \rho_j(f) < \infty \text{ exists,} \\ \infty & \text{, for } f \text{ with } \rho_j(f) = \infty \text{ for all } j \in \mathbb{N} \end{cases}$$

**Definition 1.3** [5, 6]: The type of a meromorphic function f of iterated p-order  $\rho(0 < \rho < \infty)$  is defined as

$$\tau_p(f) = \limsup_{r \to \infty} \frac{\log_{p-1} T(r, f)}{r^{\rho}} \qquad (p \ge 1 \text{ is an integer}).$$

**Definition 1.4** [9]: Let f be a meromorphic function. Then the iterated exponent of convergence of the sequence of zeros of f(z) is defined as

$$\lambda_p(f) = \limsup_{r \to \infty} \frac{\log_p N\left(r, \frac{1}{f}\right)}{\log r} \qquad (p \ge 1 \text{ is an integer}),$$

where  $N\left(r,\frac{1}{f}\right)$  is the counting function of zeros of f(z) in  $\{z:|z| \le r\}$ . For p=1, this notation is called exponent of convergence of the sequence of zeros and for p=2 hyper-exponent of convergence of the sequence of zeros [7]. Similarly, the iterated exponent of convergence of the sequence of f(z) is defined as

$$\overline{\lambda}_{p}(f) = \limsup_{r \to \infty} \frac{\log_{p} \overline{N}\left(r, \frac{1}{f}\right)}{\log r} \qquad (p \ge 1 \text{ is an integer}),$$

where  $\overline{N}\left(r,\frac{1}{f}\right)$  is the counting function of distinct zeros of f(z) in  $\{z:|z| \le r\}$ . For p=1,

this notation is called exponent of convergence of the sequence of distinct zeros and for p = 2 hyper-exponent of convergence of the sequence of distinct zeros [7].

It is well-known that the study of the properties of solutions of complex differential equations is an interesting topic. The oscillation theory for complex differential equations in the complex plane was firstly investigated by Bank and Laine in 1982-1983 [1, 2]. In [7], Chen pointed out the relation between the exponent of convergence of distinct fixed points and the rate of growth of solutions of the linear differential equation

$$f'' + A(z)f = 0 (1.1)$$

when A is a polynomial and A is a transcendental entire function with finite order. Recently, the author and Latreuch [11] have investigated the relations between the polynomial of solutions of (1.1) and small functions. They showed that  $w = d_1f_1 + d_2f_2$  keeps the same properties of the growth and oscillation of  $f_j(j=1,2)$ , where  $f_1$  and  $f_2$  are two linearly independent solutions of (1.1) and obtained the following results.

**Theorem A** [11]: Let A(z) be a transcendental entire function of finite order. Let  $d_j(z)(j=1,2)$  be finite order entire functions that are not all vanishing identically such that  $\max \{\rho(d_1), \rho(d_2)\} < \rho(A)$ . If  $f_1$  and  $f_2$  are two linearly independent solutions of (1.1), then the polynomial of solutions  $w = d_1f_1 + d_2f_2$  satisfies

$$\rho(w) = \rho(f_j) = \infty$$
  $(j = 1, 2)$ 

and

$$\rho_2(w) = \rho_2(f_j) = \rho(A) \quad (j = 1, 2)$$

**Theorem B** [11]: Under the hypotheses of Theorem A, let  $\varphi(z) \neq 0$  be an entire function with finite order such that  $\psi(z) \neq 0$ . If  $f_1$  and  $f_2$  are two linearly independent solutions of (1.1), then the polynomial of solutions  $w = d_1f_1 + d_2f_2$  satisfies

$$\overline{\lambda}(w-\varphi) = \lambda(w-\varphi) = \rho(f_j) = \infty$$
  $(j=1,2)$ 

and

$$\overline{\lambda}_2(w-\varphi) = \lambda_2(w-\varphi) = \rho_2(f_j) = \rho(A) \qquad (j=1,2),$$

where

$$\begin{split} \psi(z) &= \frac{2\left(d_{1}d_{2}d_{2}^{'} - d_{2}^{2}d_{1}^{'}\right)}{h}\varphi^{(3)} + \phi_{2}\varphi^{''} + \phi_{1}\varphi^{'} + \phi_{0}\varphi, \\ \phi_{2} &= \frac{3d_{2}^{2}d_{1}^{''} - 3d_{1}d_{2}d_{2}^{''}}{h}, \\ \phi_{1} &= \frac{2d_{1}d_{2}d_{2}^{'}A + 6d_{2}d_{1}d_{2}^{''} - 6d_{2}d_{2}d_{1}^{''} - 2d_{2}^{2}d_{1}^{'}A}{h}, \\ \phi_{0} &= \frac{2d_{2}d_{1}d_{2}^{''} - 2d_{1}d_{2}d_{2}^{''} - 3d_{1}d_{2}d_{2}^{''}A - 3d_{2}d_{1}^{''}d_{2}^{''} + 2d_{1}d_{2}d_{2}^{'}A^{''}}{h} \\ &- \frac{4d_{2}d_{1}d_{2}^{'}A - 6d_{1}d_{2}d_{2}^{''} + 3d_{1}\left(d_{2}^{''}\right)^{2} + 4d_{1}\left(d_{2}^{''}\right)^{2}A + 3d_{2}^{2}d_{1}^{''}A}{h} \\ &+ \frac{6\left(d_{2}^{''}\right)^{2}d_{1}^{''} - 2d_{2}^{2}d_{1}^{'}A^{''}}{h} \end{split}$$

In this paper, we extend the results of Theorems A-B from entire solutions to meromorphic solutions by considering the complex differential equation

$$f'' + A(z)f' + B(z)f = 0, \qquad (1.2)$$

where A(z) and B(z) are meromorphic functions of finite iterated p-order.

Before we state our results we define the functions h(z) and  $\psi(z)$  by

$$h = \begin{vmatrix} H_1 & H_2 & H_3 & H_4 \\ H_5 & H_6 & H_7 & H_8 \\ H_9 & H_{10} & H_{11} & H_{12} \\ H_{13} & H_{14} & H_{15} & H_{16} \end{vmatrix},$$

Benharrat Belaidi

where  $H_1 = d_1$ ,  $H_2 = 0$ ,  $H_3 = d_2$ ,  $H_4 = 0$ ,  $H_5 = d_1^{'}$ ,  $H_6 = d_1$ ,  $H_7 = d_2^{'}$ ,  $H_8 = d_2$ ,  $H_9 = d_1^{''} - d_1 B$ ,  $H_{10} = 2d_1^{'} - d_1 A$ ,  $H_{11} = d_2^{''} - d_2 B$ ,  $H_{12} = 2d_2^{'} - d_2 A$ ,  $H_{13} = d_1^{'''} - 3d_1^{'}B + d_1 A B - d_1 B^{'}$ ,  $H_{14} = 3d_1^{''} - 2d_1^{'}A - d_1 B + d_1 A^2 - d_1 A^{'}$ ,  $H_{15} = d_2^{''''} - 3d_2^{'}B + d_2 A B - d_2 B^{'}$ ,  $H_{16} = 3d_2^{''} - 2d_2^{'}A - d_2 B + d_2 A^2 - d_2 A^{'}$ ,

$$\psi(z) = \frac{2(d_1d_2d_2 - d_2^2d_1)}{h}\varphi^{(3)} + \phi_2\varphi^{"} + \phi_1\varphi^{'} + \phi_0\varphi, \qquad (1.3)$$

where  $\varphi \neq 0$ ,  $d_j (j = 1, 2)$  are meromorphic functions of finite iterated *p*-order and

$$\phi_2 = \frac{2\left(d_1 d_2 d_2^{'} - d_2^2 d_1^{'}\right) A - 3d_1 d_2 d_2^{''} + 3d_2^2 d_1^{''}}{h}, \qquad (1.4)$$

$$\phi_{1} = \frac{1}{h} \Big[ 6d_{2} \Big( d_{1}^{'} d_{2}^{''} - d_{2}^{'} d_{1}^{''} \Big) + 2d_{2} \Big( d_{1} d_{2}^{'} - d_{2} d_{1}^{'} \Big) B + 2d_{2} \Big( d_{1} d_{2}^{'} - d_{2} d_{1}^{'} \Big) A^{\prime} + 3d_{2} \Big( d_{2} d_{1}^{''} - d_{1} d_{2}^{''} \Big) A \Big], \quad (1.5)$$

$$\phi_{0} = \frac{1}{h} \bigg[ \Big( d_{1}d_{2}\dot{d}_{2}^{"} - 3d_{2}d_{2}\dot{d}_{1}^{"} + 2d_{2}d_{1}\dot{d}_{2}^{"} \Big) A + \Big( 4d_{1}\Big( d_{2}\dot{d}_{2}\right)^{2} + 3d_{2}^{2}d_{1}^{"} - 3d_{1}d_{2}d_{2}^{"} - 4d_{2}d_{1}\dot{d}_{2} \Big) B \\ + 2\Big( d_{2}d_{1}\dot{d}_{2} - d_{1}\Big( d_{2}\dot{d}_{2}\right)^{2} \Big) A^{'} + 2\Big( d_{1}d_{2}d_{2}^{'} - d_{2}^{2}d_{1}^{'} \Big) B^{'} + 6\Big( d_{2}\dot{d}_{2}\right)^{2}d_{1}^{"} - 2d_{1}d_{2}\dot{d}_{2}^{"}$$
(1.6)  
$$+ 2d_{2}d_{1}\dot{d}_{2}^{"} - 3d_{2}d_{1}^{"}d_{2}^{"} - 6d_{1}\dot{d}_{2}\dot{d}_{2}^{"} + 3d_{1}\Big( d_{2}^{"} \Big)^{2} \bigg]$$

**Theorem 1.1** Let A(z) and B(z) be meromorphic functions with  $i(B) = p \ge 1$ ,  $\lambda_p\left(\frac{1}{B}\right) < \rho_p(B)$  such that  $\rho_p(A) < \rho_p(B)$  and  $0 < \tau_p(A) < \tau_p(B) < \infty$  if  $\rho_p(B) = \rho_p(A) > 0$ . Let  $d_j(z)(j = 1, 2)$  be meromorphic functions that are not all vanishing identically such that  $\max\left\{\rho_p(d_1), \rho_p(d_2)\right\} < \rho_p(B)$ . If  $f_1$  and  $f_2$  are two nontrivial linearly independent meromorphic solutions whose poles are of uniformly bounded multiplicity of (1.2), then the polynomial of solutions  $w = d_1f_1 + d_2f_2$  satisfies i(w) = p + 1,

$$\rho_p(w) = \rho_p(f_j) = \infty \qquad (j = 1, 2)$$

and

$$\rho_{p+1}(w) = \rho_{p+1}(f_j) = \rho_p(B)$$
  $(j = 1, 2).$ 

From Theorem 1.1, we can obtain the following result.

**Corollary 1.1** Let  $f_i(z)$  (i=1,2) be two nontrivial linearly independent meromorphic solutions whose poles are of uniformly bounded multiplicity of (1.2), where A(z) and B(z) are meromorphic functions with  $i(B) = p \ge 1$ ,  $\lambda_p\left(\frac{1}{B}\right) < \rho_p(B)$  such that  $\rho_p(A) < \rho_p(B)$  or  $\rho_p(B) = \rho_p(A) > 0$  and  $0 < \tau_p(A) < \tau_p(B) < \infty$ , and let  $d_j(z)(j=1,2,3)$ be meromorphic functions satisfying

$$\max\left\{\rho_p\left(d_j\right): j=1,2,3\right\} < \rho_p\left(B\right)$$

and

$$d_1(z)f_1 + d_2(z)f_2 = d_3(z)$$

Then  $d_j(z) \equiv 0$  (j = 1, 2, 3).

*Proof.* Suppose there exists j = 1, 2, 3 such that  $d_j(z) \neq 0$  and we obtain a contradiction. If  $d_1(z) \neq 0$  or  $d_2(z) \neq 0$ , then we have

$$\rho_p(d_1f_1+d_2f_2)=\infty=\rho_p(d_3)<\rho_p(B)$$

which is a contradiction. Now if  $d_1(z) \equiv 0$ ,  $d_2(z) \equiv 0$  and  $d_3(z) \neq 0$  we obtain also a contradiction. Hence  $d_i(z) \neq 0$  (j = 1, 2, 3).

**Theorem 1.2** Under the assumptions of Theorem 1.1, let  $\varphi(z) \neq 0$  be a meromorphic function with finite iterated *p*-order such that  $\psi(z) \neq 0$ . If  $f_1$  and  $f_2$  are two nontrivial linearly independent meromorphic solutions whose poles are of uniformly bounded multiplicity of (1.2), then the polynomial of solutions  $w = d_1f_1 + d_2f_2$  satisfies

$$\overline{\lambda}_{p}(w-\varphi) = \lambda_{p}(w-\varphi) = \rho_{p}(f_{j}) = \infty \quad (j=1,2)$$
(1.7)

and

$$\overline{\lambda}_{p+1}(w-\varphi) = \lambda_{p+1}(w-\varphi) = \rho_{p+1}(f_j) = \rho_p(B) \quad (j=1,2).$$
(1.8)

**Theorem 1.3** Let A(z) and B(z) be meromorphic functions with  $i(B) = p \ge 1$ ,  $\lambda_p\left(\frac{1}{B}\right) < \rho_p(B)$  such that  $\rho_p(A) < \rho_p(B)$ . Let  $d_j(z), b_j(z)$  (j=1,2) be finite iterated

*p*-order meromorphic functions such that  $d_1(z)b_2(z) - d_2(z)b_1(z) \neq 0$ . If  $f_1$  and  $f_2$  are two nontrivial linearly independent meromorphic solutions whose poles are of uniformly bounded multiplicity of (1.2), then

$$\rho_{p}\left(\frac{d_{1}f_{1}+d_{2}f_{2}}{b_{1}f_{1}+b_{2}f_{2}}\right) = \infty$$

and

$$\rho_{p+1}\left(\frac{d_1f_1 + d_2f_2}{b_1f_1 + b_2f_2}\right) = \rho_p(B)$$

**Remark 1.1** The condition that the multiplicity of poles of the solution *f* is uniformly bounded can be changed by  $\delta(\infty, f) = \liminf_{r \to \infty} \frac{m(r, f)}{T(r, f)} > 0$  for the solution *f*[6].

### 2. AUXILIARY LEMMAS

**Lemma 2.1** [4] Let  $A_0, A_1, ..., A_{k-1}, F$  be finite iterated *p*-order meromorphic functions. If *f* is a meromorphic solution of the equation

$$f^{(k)} + A_{k-1}f^{(k-1)} + \dots + A_1f' + A_0f = F$$

with  $\rho_p(f) = \infty$  and  $\rho_{p+1}(f) = \rho$ , then f satisfies

$$\lambda_p(f) = \lambda_p(f) = \rho_p(f) = \infty,$$
  
$$\overline{\lambda}_{p+1}(f) = \lambda_{p+1}(f) = \rho_{p+1}(f) = \rho.$$

**Lemma 2.2** [6] Let A(z) and B(z) be meromorphic functions with  $i(B) = p \ge 1$ ,  $\lambda_p\left(\frac{1}{B}\right) < \rho_p(B)$  such that  $\rho_p(A) < \rho_p(B)$  and  $0 < \tau_p(A) < \tau_p(B) < \infty$  if  $\rho_p(B) = \rho_p(A) > 0$ . Then every meromorphic solution  $f \ne 0$  of (1.2) whose poles are of uniformly bounded multiplicity satisfies i(f) = p + 1,  $\rho_p(f) = \infty$  and  $\rho_{p+1}(f) = \rho_p(B)$ .

**Lemma 2.3** Let A(z) and B(z) be meromorphic functions with  $i(B) = p \ge 1$ ,  $\lambda_p\left(\frac{1}{B}\right) < \rho_p(B)$  such that  $\rho_p(A) < \rho_p(B)$ . If  $f_1$  and  $f_2$  are two linearly independent meromorphic solutions whose poles are of uniformly bounded multiplicity of (1.2), then  $\frac{f_1}{f_2}$ 

satisfies  $i\left(\frac{f_1}{f_2}\right) = p+1$  and  $\rho_p\left(\frac{f_1}{f_2}\right) = \infty$ ,  $\rho_{p+1}\left(\frac{f_1}{f_2}\right) = \rho_p(B)$ .

*Proof.* Suppose that  $f_1$  and  $f_2$  are two linearly independent meromorphic solutions whose poles are of uniformly bounded multiplicities of (1.2). Since  $\lambda_p\left(\frac{1}{B}\right) < \rho_p(B)$  and  $\rho_p(A) < \rho_p(B)$ , then by Lemma 2.2 we have  $i(f_1) = i(f_2) = p + 1$  and

$$\rho_{p}(f_{1}) = \rho_{p}(f_{2}) = \infty, \ \rho_{p+1}(f_{1}) = \rho_{p+1}(f_{2}) = \rho_{p}(B).$$
(2.1)

On the other hand

$$\left(\frac{f_1}{f_2}\right) = -\frac{W(f_1, f_2)}{f_2^2},$$
(2.2)

where  $W(f_1, f_2) = f_1 f_2 - f_2 f_1$  is the wronskian of  $f_1$  and  $f_2$ . By using (1.2) we obtain that

$$W'(f_1, f_2) = -A(z)W(f_1, f_2)$$
(2.3)

which implies that

$$W(f_1, f_2) = K \exp\left(-\int A(z)\right), \qquad (2.4)$$

where  $\int A(z)$  is the primitive of A(z) and  $K \in \mathbb{C} \setminus \{0\}$ . By (2.2) and (2.4) we have

$$\left(\frac{f_1}{f_2}\right) = -K \frac{\exp\left(-\int A(z)\right)}{f_2^2}.$$
(2.5)

Benharrat Belaidi

Since  $\rho_p(f_2) = \infty$  and  $\rho_{p+1}(f_2) = \rho_p(B) > \rho_p(A)$ , then from (2.5) we obtain  $i\left(\frac{f_1}{f_2}\right) = p+1$  and  $\rho_p\left(\frac{f_1}{f_2}\right) = \infty$ ,  $\rho_{p+1}\left(\frac{f_1}{f_2}\right) = \rho_p(B)$ .

**Lemma 2.4** [5] Let f and g be meromorphic functions such that  $0 < \rho_p(f)$ ,  $\rho_p(g) < \infty$  and  $0 < \tau_p(f)$ ,  $\tau_p(g) < \infty$ . Then we have

(i) If  $\rho_p(f) > \rho_p(g)$ , then we obtain

(ii) If 
$$\rho_p(f) = \rho_p(g)$$
 and  $\tau_p(f) \neq \tau_p(g)$ , then we get  
 $\rho_p(f+g) = \rho_p(g) = \rho_p(g)$ .

### **3. PROOF OF THEOREMS**

**Proof of Theorem 1.1** In the case when  $d_1(z) \equiv 0$  or  $d_2(z) \equiv 0$ , then the conclusions of Theorem 1.1 are trivial. Suppose that  $f_1$  and  $f_2$  are two nontrivial linearly independent meromorphic solutions whose poles are of uniformly bounded multiplicity of (1.2) such that  $d_i(z) \neq 0$  (j = 1, 2) and let

$$w = d_1 f_1 + d_2 f_2 \tag{3.1}$$

Then by Lemma 2.2, we have  $i(f_1) = i(f_2) = p + 1$  and

Suppose that  $d_1 = cd_2$ , where c is a complex number. Then, by (3.1) we obtain

$$w = cd_2f_1 + d_2f_2.$$
  
Since  $f = cf_1 + f_2$  is a solution of (1.2) and  $\rho_p(d_2) < \rho_p(B)$ , then we have  
 $\rho_p(w) = \rho_p(cf_1 + f_2) = \infty$ 

and

$$\rho_{p+1}(w) = \rho_{p+1}(cf_1 + f_2) = \rho_p(B).$$

Suppose now that  $d_1 \neq cd_2$  where c is a complex number. Differentiating both sides of (3.1), we obtain

$$w' = d'_1 f_1 + d_1 f'_1 + d'_2 f_2 + d_2 f'_2.$$
(3.2)

Differentiating both sides of (3.2), we have

$$w'' = d_1'f_1 + 2d_1'f_1' + d_1f_1'' + d_2'f_2 + 2d_2'f_2' + d_2f_2''.$$
(3.3)

Substituting  $f_j'' = -A(z)f_j - B(z)f_j$  (j = 1,2) into equation (3.3), we obtain

$$w'' = (d_1'' - d_1B)f_1 + (2d_1' - d_1A)f_1' + (d_2'' - d_2B)f_2 + (2d_2' - d_2A)f_2'.$$
(3.4)

Differentiating both sides of (3.4) and substituting  $f_j = -A(z)f_j - B(z)f_j$  (j = 1, 2), we get

$$w^{"} = \left(d_{1}^{"} - 3d_{1}B + d_{1}\left(AB - B^{'}\right)\right)f_{1} + \left(3d_{1}^{"} - 2d_{1}A + d_{1}\left(A^{2} - A^{'} - B\right)\right)f_{1}^{'} + \left(d_{2}^{"} - 3d_{2}B + d_{2}\left(AB - B^{'}\right)\right)f_{2} + \left(3d_{2}^{"} - 2d_{2}A + d_{2}\left(A^{2} - A^{'} - B\right)\right)f_{2}^{'}$$
(3.5)

By (3.1) - (3.5) we have

$$w = d_{1}f_{1} + d_{2}f_{2}$$

$$w' = d_{1}f_{1} + d_{1}f_{1}' + d_{2}f_{2} + d_{2}f_{2}'$$

$$w'' = (d_{1}'' - d_{1}B)f_{1} + (2d_{1}' - d_{1}A)f_{1}' + (d_{2}'' - d_{2}B)f_{2} + (2d_{2}' - d_{2}A)f_{2}'$$

$$w''' = (d_{1}''' - 3d_{1}'B + d_{1}(AB - B'))f_{1} + (3d_{1}'' - 2d_{1}'A + d_{1}(A^{2} - A' - B))f_{1}'$$

$$+ (d_{2}''' - 3d_{2}'B + d_{2}(AB - B'))f_{2} + (3d_{2}'' - 2d_{2}'A + d_{2}(A^{2} - A' - B))f_{2}'$$
(3.6)

To solve this system of equations, we need first to prove that  $h \neq 0$ . By simple calculations we obtain

$$h = \begin{vmatrix} H_{1} & H_{2} & H_{3} & H_{4} \\ H_{5} & H_{6} & H_{7} & H_{8} \\ H_{9} & H_{10} & H_{11} & H_{12} \\ H_{13} & H_{14} & H_{15} & H_{16} \end{vmatrix},$$
(3.7)  
$$= 2(d_{1}d_{2}' - d_{2}d_{1}')^{2}B + (d_{2}^{2}d_{1}'d_{1}'' + d_{1}^{2}d_{2}'d_{2}'' - d_{1}d_{2}d_{1}'d_{2}'' - d_{1}d_{2}d_{2}'d_{1}''')A$$
$$- 2(d_{1}d_{2}' - d_{2}d_{1}')^{2}A' + 2d_{1}d_{2}d_{1}'d_{2}''' + 2d_{1}d_{2}d_{2}'d_{1}''' - 6d_{1}d_{2}d_{1}'d_{2}'' - 6d_{1}d_{1}'d_{2}'d_{2}'' - 6d_{2}d_{1}'d_{2}'d_{1}'''$$

It is clear that  $(d_1d_2 - d_2d_1)^2 \neq 0$  because  $d_1 \neq cd_2$ . Since  $\max\{\rho_p(d_1), \rho_p(d_2)\} < \rho_p(B)$ 

and  $\left(d_1d_2 - d_2d_1\right)^2 \neq 0$ , then by using Lemma 2.4 we obtain

$$\rho_p(h) = \rho_p(B) > 0. \tag{3.8}$$

Hence  $h \neq 0$ . By Cramer's method we have

24

ſ

 $f_1$ 

$$=\frac{\begin{vmatrix} w & H_{2} & H_{3} & H_{4} \\ w' & H_{6} & H_{7} & H_{8} \\ w'' & H_{10} & H_{11} & H_{12} \\ w^{(3)} & H_{14} & H_{15} & H_{16} \end{vmatrix}}{h}$$

$$=2\frac{\left(\frac{d_{1}d_{2}d_{2}^{'} - d_{2}^{2}d_{1}^{'}}{h}w^{(3)} + \phi_{2}w^{''} + \phi_{1}w^{'} + \phi_{0}w\right)$$
(3.9)

where  $\phi_j$  (j = 0,1,2) are meromorphic functions of finite iterated *p*-order which are defined in (1.4) – (1.6). Suppose now  $\rho_p(w) < \infty$ . Then by (3.9) we obtain  $\rho_p(f_1) < \infty$  which is a contradiction. Hence  $\rho_p(w) = \infty$ . By (3.1) we have  $\rho_{p+1}(w) \le \rho_p(B)$ . Suppose that  $\rho_{p+1}(w) < \rho_p(B)$ . Then by (3.9) we obtain  $\rho_{p+1}(f_1) < \rho_p(B)$  which is a contradiction. Hence  $\rho_{p+1}(w) = \rho_p(B)$ .

**Proof of Theorem 1.2** By Theorem 1.1 we have  $\rho_p(w) = \infty$  and  $\rho_{p+1}(w) = \rho_p(B)$ . Set  $g(z) = d_1 f_1 + d_2 f_2 - \varphi$ . Since  $\rho_p(\varphi) < \infty$ , then we have  $\rho_p(g) = \rho_p(w) = \infty$  and  $\rho_{p+1}(g) = \rho_{p+1}(w) = \rho_p(B)$ . In order to prove  $\overline{\lambda}_p(w-\varphi) = \lambda_p(w-\varphi) = \infty$  and  $\overline{\lambda}_{p+1}(w-\varphi) = \lambda_{p+1}(w-\varphi) = \rho_p(B)$ , we need to prove only  $\overline{\lambda}_p(g) = \lambda_p(g) = \infty$  and  $\overline{\lambda}_{p+1}(g) = \lambda_{p+1}(g) = \rho_p(B)$ . By  $w = g + \varphi$  we get from (3.9)

$$f_1 = 2 \frac{\left(d_1 d_2 d_2^{'} - d_2^2 d_1^{'}\right)}{h} g^{(3)} + \phi_2 g^{''} + \phi_1 g^{'} + \phi_0 g + \psi, \qquad (3.10)$$

where

$$\psi = 2 \frac{\left(d_1 d_2 d_2 - d_2^2 d_1\right)}{h} \varphi^{(3)} + \phi_2 \varphi^{"} + \phi_1 \varphi^{'} + \phi_0 \varphi .$$

Substituting (3.10) into equation (1.2), we obtain

$$2\frac{\left(d_{1}d_{2}d_{2}^{'}-d_{2}^{2}d_{1}^{'}\right)}{h}g^{(5)}+\sum_{j=0}^{4}\beta_{j}g^{(j)}=-\left(\psi^{''}+A(z)\psi^{'}+B(z)\psi\right)=F(z),$$

where  $\beta_j$  (j = 0,...,4) are meromorphic functions of finite iterated *p*-order. Since  $\psi \neq 0$  and  $\rho_p(\psi) < \infty$ , it follows that  $\psi$  is not a solution of (1.2), which implies that  $F(z) \neq 0$ . Then by applying Lemma 2.1 we obtain (1.7) and (1.8).

**Proof of Theorem 1.3** Suppose that  $f_1$  and  $f_2$  are two nontrivial linearly independent meromorphic solutions whose poles are of uniformly bounded multiplicities of (1.2). Then by Lemma 2.3, we have  $i\left(\frac{f_1}{f_2}\right) = p+1$  and

Benharrat Belaidi

$$\rho_p\left(\frac{f_1}{f_2}\right) = \infty, \ \rho_{p+1}\left(\frac{f_1}{f_2}\right) = \rho_p(B)$$

Set  $g = \frac{f_1}{f_2}$ . Then

$$w(z) = \frac{d_1(z)f_1(z) + d_2(z)f_2(z)}{b_1(z)f_1(z) + b_2(z)f_2(z)} = \frac{d_1(z)g(z) + d_2(z)}{b_1(z)g(z) + b_2(z)}.$$
(3.11)

It follows that  $i(w) \le p+1$  and  $\rho_p(w) \le \rho_p(g) = \infty$ ,

$$\rho_{p+1}(w) \le \max\left\{\rho_{p+1}(d_j), \rho_{p+1}(b_j) \ (j=1,2), \rho_{p+1}(g)\right\} = \rho_{p+1}(g). \tag{3.12}$$

On the other hand, we have

$$g(z) = -\frac{b_2(z)w(z) - d_2(z)}{b_1(z)w(z) - d_1(z)}$$

which implies that that  $i(w) \ge p+1$  and  $\rho_p(w) = \rho_p(g) = \infty$ ,

$$\rho_{p+1}(g) \le \max\left\{\rho_{p+1}(d_j), \rho_{p+1}(b_j) \ (j=1,2), \rho_{p+1}(w)\right\} = \rho_{p+1}(w). \tag{3.13}$$

By using (3.12) and (3.13), we obtain i(w) = p + 1 and

$$\rho_{p}(w) = \rho_{p}(g) = \infty, \ \rho_{p+1}(w) = \rho_{p+1}(g) = \rho_{p}(B).$$

#### REFERENCES

- [1] Bank, S., Laine, I., Trans. Amer. Math. Soc., 273(1), 351, 1982.
- [2] Bank, S., Laine, I., Comment. Math. Helv., 58(4), 656, 1983.
- [3] Bernal, L. G., Proc. Amer. Math. Soc., 101, 317, 1987.
- [4] Belaïdi, B., Acta Math. Univ. Comenian. (N.S.), 77(2), 263, 2008.
- [5] Belaïdi, B., Publ. Inst. Math.(Beograd) (N.S.), 90(104), 125, 2011.
- [6] Cao, T. B., Xu, J. F., Chen, Z. X., J. Math. Anal. Appl., **364**(1), 130, 2010.
- [7] Chen, Z. X., Acta Math. Sci. Ser. A Chin. Ed., 20(3), 425, 2000 (in Chinese).
- [8] Hayman, W. K., *Meromorphic functions*, Clarendon Press, Oxford, 1964.
- [9] Kinnunen, L., *Southeast Asian Bull. Math.*, **22**(4), 385, 1998.
- [10] Laine, I., *Nevanlinna theory and complex differential equations* in de Gruyter Studies in Mathematics, Walter de Gruyter & Co., Berlin-New York, 1993.
- [11] Latreuch, Z., Belaïdi, B., Journal of Complex Analysis, 2013, Article ID 253168, 5 pages, 2013.
- [12] Yang, C. C., Yi, H. X., *Uniqueness theory of meromorphic functions* in Mathematics and its Applications, 557, Kluwer Academic Publishers Group, Dordrecht, 2003.